LN099-c¢

2000 = 53 99 Bk f’i‘?f
{2000 ﬁﬂyjbﬁﬂé"qw TS i (B
(ﬁgm)(lr)fw - -
(=== EﬁﬁfﬁJ lﬁqfﬁ"fﬁ%ﬁ?‘% (G5 W oSS ,hﬁl'%lm
(Y24 1) 25 52 fE5)
1. Z3F1Hf
{75 F1 2000 F 6 5] 12 FIEHAE -
2. FfE I7J§‘I52(1) fi F’?F BEgRES |
(R%; PG Y (Bl GESY) A7) (3R 24 - IR D) 53 2(1) 1%
?FTJ:‘J"PSEE,T = "0.011%" iyl "0.01%" -
3. AR RGP 52(3) (o) [RAF(EEL MY
?«%ﬁﬂ ?’[ FEAYE 155 3k
3 I#IF‘J I'TET = "63.64%" [0 "50%"

e

¢FAH ﬂ’ﬁf%ﬁ%‘a(%gj‘ww ETEERT HI A DT (3724 ) ?‘T 52;1) [";fzﬁmj@%::}
| PATEER B T‘*L?%‘k?ﬁ pLFT PR TR D) 2 AT BRI A 5 & iy )
CHaETe «Lja%a;ﬂ EI15Y 52(3) (a) FRIFZVEVERISH - [R5 & LR I PR IEY 52(3) (b) %
AT -



